CLASS: 12th (Sr. Secondary) CODE: A

(TTTTTTTTT]
PHYSICAL EDUCATION
[Hindi and English Medium]
ACADEMIC
[Time allowed: 3 hours] [Maximum Marks: 60]
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GENERAL INSTRUCTIONS: -

*Question no. 1 to 15 are objective type questions carrying 1 mark each.
*Question no. 16 to 21 are Very Short answer type questions (with internal
choice in question no. 16 and 17) carrying 2 marks each.
*Question no. 22 to 27 are Short answer type questions (with internal choice in
question no. 22 and 23) carrying 3 marks each.
*Question no. 28 to 30 are Long answer type questions (with internal
choice in all three questions) carrying 5 marks each.
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SECTION-A
(OBJECTIVE TYPE QUESTIONS)

Y -1. 34 10 & 1P -3ATSC gHHE & AMYR R Fd fha AT g1 2
() 31 @32 (M33 ()35

The total number of matches in a knock out Tournament of 34 teams.
(a) 31 b) 32 (c) 33 (d) 35

Y 2. THIINT A fagpfa feg o 3 gwefia g 2
@) W @RR @) PASHITTH () B
Scoliosis is a postural deformity related with
(a) Foot (b)Head (c) Vertebral column (d) Hand

Y 3. e ergarwawe »
(@) 3FAvE  (@)3AST (MY (Y) Bal

The main source of Vitamin C is
(a) Guava (b) Egg (c) Milk  (d) Banana

Y 4. e te g S fPa P RmEea e »
@) T (@) Aiex e () Wg-Rifad (9) T

Sit and reach test is conducted for
(a) Flexibility (b) Motor fithess (c) Endurance (d) Speed

U4 5. Yed & R Faua at W Fed & |
@) Jsar 1 fgd (@) foran ufafoean &1 Fam
@ Taeifga @) d9d &1 g

The Newton’s third law of motion is also known as

(a) Law of inertia (b) Law of action and reaction
(c) Law of momentum (d) Boyle’s law

Y 6. WIdaA®d uiRrer fafy few 3z flawRa s »
() Wie (@) ARSI (1) HRd (¥) TS

Fartlek training method was developed in

(a) Sweden (b) The USA (c) India (d) England.
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UH 7. (cooeeernnns ) &I fIRy Naffe & JIRITUS & Y H SET ST 8]

(ceeeennnnn. ) is known as founder of Special Olympics.

T 9. (ceveeerennnn. ) ST T 8 o Wie= & a1¢ ft frar ST aear g |

(coreenennn ) is the only Asana which can be carried out after meal also

WY 10. ST ATATRRN &1 =1 e Fi 6 ?

What is main objective of intramural activities?

Uy 11.39 Rl 1 7w & Rred R gowar 9ga ST )

Name the deformity for which horse riding is very useful.

Uy 12. At AFRY-UT A B9 yHIfad garg 2

Who is affected by Green Stick Fracture?

(STHHYA/ PRUT_(ASSERTION/ REASONING)

g sy RT T § 1| TP &1 AFUFUT (A ) 3R GBI HRUI(R) S FUH
E'R’Iqu qT % | Hﬁ DY ?;{ﬁ'E | There are two statements which are stated below
and labelled as Assertion (A) and Reasoning (R). Choose the correct answer.

Y -13 fHHYT (A) — HHd IRR 3R IY R ST HA T Il BT 3T Slg

i) FEAAT R |
PR (R) -oig die! RAarisal & UerH # GUR & § Tgradl Hdl § |

el faeea g9 | 3R -

3 UHUT (A) T8 & A HRUI(R) TAd G |

q) 3B YT (A) TAd & AfPd BRUI(R) eI B |

) (A) 3R (R) GHI TG g 3R (R) ; (A) P Ug! AR IR ¢ |
@) (A) 3R (R) T T&l & Afdh (R) ; (A) P! Tg! ARSAT g1 el |

Q13. (A) ASSERTION: The study of human body and various forces acting on it
is called Biomechanics.
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(R) REASON: Biomechanics helps in improving the performance of the players.
Ans: select the correct statement

(@) (A) is right but (R) is wrong

(b) (A) is wrong but (R) is right

(c) (A) and (R) both are right but (R) is not correct explanation of (A)
(d) (A) and (R) both are right and (R) is correct explanation of (A)

Uy 14 . AfUBYT (A) : TSI A TS Pl gdcace soad Yt HeT ST gl
PRUT (R) : dI. TH.3M5. Bl Sl gdcale - 41830 -1850 & g
e forar / Sudad HY=T & SMUR W gl fawew g /

31N —

31 AfYBYT (A) TEl & AP BRU(R) Tad @ |

) 3ANHYT (A) TAd § Afhd HRUI(R) TB! B |

) (A) 3R (R) GHI e § 3R (R) : (A) B Tg! ARSI AT @ |
) (A) 3R (R) S &l € dfh (R) ; (A) P TEt UrAT 7T Bl |

Q14. ASSERTION (A): Body Mass Index is also called as Quetlet Index.
REASON (R) : BMI was developed by Adolf Quetlet in 1830-1850.

Ans : select the correct statement

(@) (A) is right but (R) is wrong

(b) (A) is wrong but (R) is right

(c) (A) and (R) both are right but (R) is not correct explanation of (A)
(d) (A) and (R) both are right and (R) is correct explanation of (A)

uy 15. AfUHYT (A) : AH! Tep: TH Ufnervr Ipi # g 91 8
PRUT (R) : 394 aiftfes ufRreror arer & g+ 52 Jtarg i gid §
ST YA & MMYR W A1 fawew gHT /

I -
31 YHYT (A) T8 & Afbd HRU(R) TaAd ¢ |

q) 3IMBYT (A) TAd & Afbd BRUI(R) el B |

) (A) 3R (R) GHI TG g 3R (R) ; (A) P Ug! AR IR § |
@) (A) 3R (R) T T&1 & Afdh (R) ; (A) P! Tg! ARSAT g1 el |

Q15. ASSERTION (A): Macro Cycle is the largest of all training cycles.
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REASON (R) : It includes all 52 weeks of the annual training plan ..

Ans: select the correct statement

(@) (A) is right but (R) is wrong

(b) (A) is wrong but (R) is right

(c) (A) and (R) both are right but (R) is not correct explanation of (A)
(d) (A) and (R) both are right and (R) is correct explanation of (A)

SECTION-B
(VERY SHORT ANSWER TYPE QUESTIONS)

WY 16. §. TH. 313, T 8 SHP! TUMT S &1 G forfae |

What is B.M.I. Write formula to calculate it?
31Ydl (OR)
qadd- & fafid YR #F-39 8 ?What are different types of

equilibrium ?

Uy 17 afue Wdl § 3F d& fF9-frg yRdig afgar aarst 3 ues

Gﬂ?IT% ? How many Indian women sportsperson won medals in Olympics?
Write their names.

3[YdT (OR)
wrufire fafeer A smueT w7 IfHYT 8 2 What do you mean by First-Aid?

Y 18. ATSAIBISACP UTITH FT§ TP IS8T & | What are Isokinetic

Exercises. Give an example.

UY 10, WG SATIWET F ST T HF § 2

What do you know by Food Intolerance?

WY 20. gHHE & SR TGP Afufaal &t gat a1 | List down the

important committees during tournament.

Uy 21. Wal A GTIWITWW'IT?RIT% ? What is aggression in sports ?

(SECTION-C)
(SHORT ANSWER TYPE QUESTIONS)
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uy 22. fafid UpR & 99 Idd! B et BT IT BN |

Mention the various types of Soft Tissue Injuries.
Y4l (OR)
SIFRY- 4T T % 3'\‘1% UHRI TR TGl B | What do you mean by Fracture ?

Discuss the types of Fractures.

Y 23. WA YRR [APpiadl &t AT Y | HISHIRT & HRUT 3R
TTaYTf~al ®1 ATRAT B | Explain spinal postural deformities. Explain
causes of Kyphosis and precautions to avoid it.

3{YdT (OR)
ATTTRT & SR IS Bt fadzrarsi ) sran o3

Explain development characteristics during childhood.

Y -24. ATER & NS 3R R NS a<d HIF- B A § ? TS BN |

What are nutritive and non-nutritive components of diet?

Y 25. AP-313e fAfy F 24 HA & fore fhemr AR ®<| Draw Knock-Out

fixture for 24 teams.

WY 26. TH HTHT THE Y T $1 H G&d 3 ? fawar 9 a0 |

How can we conduct General Motor Fitness Test? Explain in detail.

Uy 27. yfaAfrar & YT A1 &t Gl H arelt A P fore g agnfe &t

ﬁ{ﬁmmavhaﬁ | Discuss the role of a Psychologist for a team
.Preparing to participate in competition.

(SECTION-D)
(LONG ANSWER TYPE QUESTIONS)

Uy 28. fa=iw smazgasr are (CwsN) g= & fore Imiifve afafafert i
Wﬂﬁﬂﬂﬁ?ﬂ?m P URSAT BT | Explain any three

strategies to make physical activities accessible for CWSN.

3{YdT (OR)
Oy sazgsdr 9 T & for RS nfafafiri foa verR Jerae @

? How are physical activities helpful for children with special needs (CWSN)?

Y 29. e & Tfa & o o1 dau § quiq a1

Enumerate various Newton’s Laws of Motion in brief.
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3{YdT (OR)
AYHT T § Yo &1 ufspar, @y iR faudia dal &1 quia &% |

What do you mean by Diabetes? Discuss the procedure, benefits and
contraindications of Bhungasana.

WY 30. Ye-RIGd T8 ? 9P [ab B! faftri &1 aufq S |

Explain various methods of endurance development.

31T (OR)
U107 & R SAfAHR 3R SrgPa & o1 T & 2 What is relationship

between load and adaptation during training programme?
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